Review for Quiz

Draw the direction of field lines around these wires (always draw at least two field lines).
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2. Determine the direction of the electrons given the magnetic field lines.

3. Give each mechanical constraint being described below, draw a symbol for it, and state the type of deformation
associated with it as well.

Situation Constraint Deformation
Using scissors to cut paper. Sheam‘ no’) Eﬁ\’;:"_l —pl‘adw&
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Sitting on an uncomfortable . i @ o W
swings that folds around you. deflec fion ﬁ ﬁ e/‘5‘5 fre

Bungee jumping. tension &= | elisthic
Crushing a can. COMP ression I:l><&7 P@asﬁc
Putting clothes on a lothesline, i ol
causing it to permaneitiy sag. CQQJP’ (’(‘\[(m ﬁ@ﬁ Ppayf'v ¢

Winds twisting the Tacoma

Narrows Bridge in 1940. tDFS["U{’\ @ ‘p{ZIC Twre




4. Check out the flowchart on page 72 of your textbook. Explain this flowchart in your own words.
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5. Fill in the following blanks: mwsfum f( ‘"“”2“"6— sz

a. Light from the sun is called I‘C{CQ((M"{/ . When it hits a solar panel, it is 4’1”0/)13'9" 6 FYN,J
(transferred/transformed) into _electricg 5

b. No longer allies, Jessica shoves Jessica, causing her to fall to the ground. This is an example of a
£ro (transfer/transformation) of __ mgc ha m(a,Q energy from Jessica to
—
jessma.t

c. On a windy day, you hear wind chimes CﬁtSlde a window. This is a f1lmnS‘Porm0k‘fWh
(transfer/transformation) of energy from _Win energy to _acous fic /souncl energy.

d. You are about to attempt a 3 pointer at the buzzer to win Game 7 of the NBA finals. Fortunately,
you've eaten pienty of food beforehand. This food has (_Duumcaﬂ energy in the bondspof its
glucose molecules. You are +mn5?®(‘mmc\ (transferring/transforming)ifto _mechun(c
energy, which aliows our muscles to move arid (hopefully) make the basket.

6. As proven by the flowchart on p. 72, some cars are only 12% efficient at transforming energy from their fur’
to mechanical energy that spins the wheels. How much useful energy (to make the wheels go) is there if ther.
is 78 000 000 000 ] of energy available from the fuel?
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7. An electric heater that is 42% energy efficient uses 75 kWh of electrical energy. How much energy is lost?
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8. Refer to the electric heater in the previous question. How muct PC‘(,U@F is consumed if this heater is
used for 5 days in a row, nonstop!?
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